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3 × 264 

 

4 × 420  

 

  

 

 

1. Write the multiplication expression. Use the given base-ten blocks to find the product. 

Regroup if needed.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2.  Draw a model with base-ten blocks to find the product.  

 

 

 

      

 

 

 

4.NBT.B.5 Multiply By 1-Digit Numbers Using Base-Ten Blocks 

4.NBT.B.5 Multiply a whole number of up to four digits by a one-digit whole number, and multiply two two-digit numbers 

 

Solution:  

 

 

Solution:  

 

 

 



 

©Copyright. All rights reserved to Tutorified.com 
 

3 × 264 

= 792 

 

4 × 420 = 1,680 

 

  

 

 

1. Write the multiplication expression. Use the given base-ten blocks to find the product. 

Regroup if needed.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2.  Draw a model with base-ten blocks to find the product.  

 

 

 

      

 

 

  

4.NBT.B.5 Multiply By 1-Digit Numbers Using Base-Ten Blocks 
Answer Key 

4.NBT.B.5 Multiply a whole number of up to four digits by a one-digit whole number, and multiply two two-digit numbers 

 

  

Solution: 4 × 446 = 1,784 

 

 

Solution: 5 × 260 = 1,300 

 

 


